, . . |Osztaly 1. feladat | 2. feladat | 3. feladat , ) Mérési Mérési
Mérési |, ., , , i , max. elért Nyelvi , )
.| jelolés | Célnyelv | pontszam | pontszam | pontszdm ] ) . eredmén | eredmény
azonositd pontszam|pontszdm| szint L
e a a a y (szazalék)
M933-N896.a angol 20 20 20 60 60 A2 Megfelelt 100%
Q652-X6146.a angol 20 18 20 60 58 A2 Megfelelt 97%
K362-L3986.a angol 18 19 19 60 56 A2 Megfelelt 93%
C698-K9836.a angol 19 16 19 60 54 A2 Megfelelt 90%
E771-C61946.a angol 20 18 20 60 58 A2 Megfelelt 97%
H244-)9526.a angol 20 20 15 60 55 A2 Megfelelt 92%
B147-L3936.a angol 19 17 17 60 53 A2 Megfelelt 88%
A134-N38]6.a angol 20 18 19 60 57 A2 Megfelelt 95%
W868-B686.a angol 20 19 18 60 57 A2 Megfelelt 95%
A496-C2236.a angol 19 17 20 60 56 A2 Megfelelt 93%
U615-N45(6.a angol 19 18 15 60 52 A2 Megfelelt 87%
L686-U8846.a angol 20 14 18 60 52 A2 Megfelelt 87%
W282-E49|6.a angol 0 0 0 60 0 A2 n.a. 0%
T342-D18(6.a angol 18 16 16 60 50 A2 Megfelelt 83%
N595-Q83(6.a angol 13 6 13 60 32 A2 Nem felel 53%
J588-X587(6.a angol 12 10 10 60 32 A2 Nem felel 53%
Q687-W616.a angol 17 17 14 60 48 A2 Megfelelt 80%
Q236-F4496.a angol 17 11 11 60 39 A2 Megfelelt 65%
X485-R6946.a angol 18 16 18 60 52 A2 Megfelelt 87%
C568-F8296.a angol 19 17 19 60 55 A2 Megfelelt 92%
W623-F57|6.a angol 18 18 15 60 51 A2 Megfelelt 85%
M155-B11{6.a angol 11 12 4 60 27 A2 Nem felel 45%
G173-C4716.a angol 14 8 8 60 30 A2 Nem felel 50%
L322-J270(6.a angol 11 3 8 60 22 A2 Nem felel 37%
H714-M3646.b angol 18 16 15 60 49 A2 Megfelelt 82%
V674-B8846.b angol 20 20 20 60 60 A2 Megfelelt 100%
E451-A99(6.b angol 20 18 18 60 56 A2 Megfelelt 93%
X262-G3946.b angol 19 18 19 60 56 A2 Megfelelt 93%
W566-T87|6.b angol 20 19 20 60 59 A2 Megfelelt 98%
E613-B2496.b angol 18 16 17 60 51 A2 Megfelelt 85%
1797-X798|6.b angol 20 19 20 60 59 A2 Megfelelt 98%
G884-D61]6.b angol 20 15 18 60 53 A2 Megfelelt 88%
N846-H16{6.b angol 20 16 17 60 53 A2 Megfelelt 88%
R579-X4296.b angol 20 18 20 60 58 A2 Megfelelt 97%
X439-F8326.b angol 19 19 13 60 51 A2 Megfelelt 85%
C436-P62946.b angol 20 19 19 60 58 A2 Megfelelt 97%
K594-W68/6.b angol 19 16 20 60 55 A2 Megfelelt 92%
J634-K723|6.b angol 20 14 17 60 51 A2 Megfelelt 85%
Q897-T81(6.b angol 18 19 19 60 56 A2 Megfelelt 93%
C446-U26(6.b angol 16 15 16 60 47 A2 Megfelelt 78%
S549-1561|6.b angol 19 17 20 60 56 A2 Megfelelt 93%
K783-X1496.b angol 20 15 20 60 55 A2 Megfelelt 92%
Q132-C5746.b angol 0 0 0 60 0 A2 n.a. 0%
N342-Q78|6.b angol 15 15 13 60 43 A2 Megfelelt 72%
X577-R4676.b angol 19 18 20 60 57 A2 Megfelelt 95%
M437-T37|6.b angol 18 12 18 60 48 A2 Megfelelt 80%
F391-M16|6.b angol 17 19 19 60 55 A2 Megfelelt 92%
R944-X7236.b angol 17 12 16 60 45 A2 Megfelelt 75%
W642-W38|6.b angol 8 7 18 60 33 A2 Nem felel 55%
0229-G9446.b angol 18 7 11 60 36 A2 Megfelelt 60%
Atlag: 80%

H464-V78{6.d német 18 19 20 60 57 A2 Megfelelt 95%
N641-L7246.d német 16 18 20 60 54 A2 Megfelelt 90%
S$537-C3776.d német 20 17 20 60 57 A2 Megfelelt 95%
P483-P27(6.d német 16 17 20 60 53 A2 Megfelelt 88%
B286-P8646.d német 17 17 19 60 53 A2 Megfelelt 88%
R871-M38|6.d német 15 13 18 60 46 A2 Megfelelt 77%
P979-v8896.d német n.a. n.a. n.a. 60 0 A2 n.a. 0%
0161-H44|6.d német 0 0 0 60 0 A2 n.a. 0%
Q525-S51(6.d német 20 20 20 60 60 A2 Megfelelt 100%
J576-U5186.d német 18 18 20 60 56 A2 Megfelelt 93%
0414-K4196.d német 20 16 19 60 55 A2 Megfelelt 92%
V286-M93(6.d német 19 15 20 60 54 A2 Megfelelt 90%
V948-B2446.d német n.a. n.a. n.a. 0 0 A2 n.a. 0%
V936-J276(6.d német 18 16 19 60 53 A2 Megfelelt 88%
1689-X826(6.d német 17 12 12 60 41 A2 Megfelelt 68%
Q487-N65{6.d német 18 16 17 60 51 A2 Megfelelt 85%
G726-X52(6.d német 18 19 19 60 56 A2 Megfelelt 93%




G514-C8946.d német 18 15 17 60 50 A2 Megfelelt 83%

J369-03376.d német 15 8 8 60 31 A2 Nem felelf] 52%

V232-)833|6.d német 17 15 17 60 49 A2 Megfelelt 82%
Atlag: 73%




